dA/(uLp-ImoYA) = f (€ =) gwr  Q0TSSL6LI =INOYA
= W €S€90 =14 (€ =) 0000¥88L = uRyA
cw 008P0TEIE = Ld (€ =) W (000SLSHSI =SV A

€ =) W 000566865 =dA

€ =) (v/wum) =SV -ury +Inoy LA —d
sgm g7 =w) [ sto =u u 0S1 =qy
1eal I s/gw LS =3no) ww g[l =d uny €6b =V
] _ S¥I _ (S'9+8)xV _ Aaadise It = ik
(p=) _ 50 §'S (S'T+E) =V = ROR0

\ ey (0 (o
_ |

(Ecr) [ 0ec | Siv [ T0s [ 60I1 [ TP6 v | ¥sw'Hn
(€oc) 0€T SLY 706 6011 | I¥6 091 0 |iefeo rhrd
(po) ore | oge | oze | orc | ooc 067 | 08z 0LT 097 | 0SZ 0vT 0€7 | o et |
obe | sre | 09 | sce | sor 0TS SSL LIT 69€T [ 1611 00 0€7 | (s/cw) &0 1D
99 09 ps | sp w 9¢ 0€ vT 8T | « 9 0 () L
F N
(g1 oL 59 09 55 as 5p or s¢ o€ 52 0z 51 ot g 0
(Fcm) U e 0
o
WL

(Feco) |

0 me (TT =Ky)
SO (¥ 60 Eevg gD (F #wrg grD o ey mg® oty (o

crgn@m” T FROE R ) FD STOT




,..\
AT 95 (T Ry
e (T (e Ty

Cre sy

6’0 vL 6l
60 (45 81
<80 89 L1
80 (4] 91
SL°0 09 o1
L0 8 Pl
S9°0 9¢ €l
90 S5 u
S50 7 T
$°0 IS 0l
sto | os 6
0 514 8

- 14 L

- %14 9
ST0 | b s
70 oF y
S1°0 e c
1'0 o T
s00 | ¢t 1
g | 1 ____

10 i (ST o)

SP {407 62 v g0 (€ Herg gm0 o ovefey e oty (o

RPTSTE (ST (ST (M S6 T om0 (6 (Y (R rey
reesd) A0 0 KR svi s Py §RED (e P ey o

(oD

(D)
(o)

{(pogrr) sIeak

A\w.\.nuﬁjﬁ;w SIBIA

(=)

Se'0
o 9°0S

e IR oD (6D STOT

(€=cmm)
(=) 299 e €L'9 00001
(i) 71s arol b6y 0001
(=) or 9458 PI'E 001
(s/¢w) (L)O (y/ww) (1)1 p; | L
Tol )
WS Igerday

09 61
8p 81
S80S =(Lr11=DL L A
07000°0 =(1Dad -1 9% 91
86660 F (LI1)Ad ss Sl
20000 | =49 (4 14
€58 |=(ID A L1 1 | Lb €l
89 4!
€01 =(L9=DL 0s i
SL60°0 =(L9)ad -1 8t o1
S206'0 |= (L9)aD 9 6
97010 | =4-\2 IS 8
877 (=9 X L9 I 14 L
79 9
8’8y =0 L€ s
=M ov 14
=V STI'0 =€ 8S €
v o
(4 i




